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Question: 1

What is the first step when installing BI+?

A. Install the studios

B. Install the base services

C. Install the license server

D. Create a Hyperion Home directory

Answer: C

Question: 2
Hong Boa needs to create a user for Bl+ within the Big Corporation System 9 implementation. He
opens a request with IT. Which Shared Services role does Hong need in order to enable users to
access BI+?

A. Provisioning Manager

B. Provisioning Administrator
C. Directory Manager

D. Project Manager

E. Global Administrator

Answer: A

Question: 3
A batch is a set of reports created in: (Choose two.)

A. Financial Reporting
B. Interactive Reporting
C. Web Analysis

D. Dashboard Studio
E. Workspace

Answer: A, E

Question: 4
Which three tasks must be completed prior to installing BlI+? (Choose three.)

A. Create a repository database and user accounts

B. Install the database client on the server for Shared Services
C. Create a domain account

D. Obtain a license file

Answer: A, C,D

Question: 5
At Big Corporation, users enter a username and password to log on at the web server. When they
enter Workspace, they are not prompted to logon. This is an example of authentication.

A. Transparent
B. Token

C. Servlet

D. Service

Answer: A
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Question: 6

Vijay Kumar is a Bl+ Administrator for The Big Corporation. He is planning to install BI+ for the
first time and has decided to follow the custom installation path. Why would Vijay select custom
installation?

A. Provides for the distribution and replication of components
B. Provides for the replication of the common repository
C. Provides for automatic user provisioning if external authentication is selected

Answer: A

Question: 7
Which of the following best describes properties of the license server? (Choose all that apply.)

A. The license server service is started after Shared Services have started

B. The license server controls licenses at the enterprise level rather than the machine level
C. A daemon communicating on TCP/IP facilitates the license check out

D. The license server only supports enterprise deployments

Answer: B, C

Question: 8
Mark Falk wants to send the production manager a link to the Sales Forecast report. From
Workspace he open the properties page of the report and captures the:

A. SmartCut
B. QuickCut
C. QuickLink
D. SmartLink

Answer: A

Question: 9
Which service records the metadata of BQY files in the repository?

A. Harvester Service

B. Scheduler Service

C. IR Service

D. Analytic Bridge Service

Answer: A

Question: 10
License Server supports which license types? (Choose two.)

A. User

B. Base Solution

C. Site Licensed

D. Subnet Licensed

Answer: A, B
Question: 11

Hong needs to have the Customer Sales list update whenever there is a download of client data
from their client tracking system. He creates an Interactive Report to run when the update occurs
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and schedules it in Workspace. In order for the document to run when the database is updated,
he needs to use what kind of event?

A. Externally triggered
B. Database system
C. Personal recurring
D. Public recurring

Answer: A

Question: 12

The DBA advices the Bl+ administrator about changes in tables used in their Bl+ reports. Since
the data model will change, the Bl+ administrator wants to update all effected documents. This
can be archived by using the:

A. Impact Manager

B. Datamodel Manager

C. Automatic Document Reload
D. Impact Reporter

Answer: A

Question: 13

Aleksei is the Bl+ administrator. Mark notified Aleksei that he cannot run the Monthly Revenue
Forecast report which is an Interactive Report in the Sales folder. Which of the following will help
Aleksei diagnose the problem? (Choose all that apply.)

A. Check and reset log levels

B. Check the Workspace log

C. Check and reset the log rotation

D. Check the IR service log

E. Check and reset the log appenders

Answer: A, B, D

Question: 14

Alexi Petrov creates an Interactive Report to retrieve the weekly inventory report. He wants
Manufacturing to be able to run the report, but not add database tables to the query definition.
Which adaptive state must Alexi assign the Manufacturing group?

A. Query and Analyze
B. Datamodel and Analyze
C. Query and Process
D. Datamodel and Process

Answer: A

Question: 15
One aspect of generating scheduled output is to run jobs according to a company calendar. The
calendar is managed with which of the following?

A. The administer module in Workspace

B. Any of the client authoring tools connected to the common repository
C. The job utilities

D. Calendars cannot be changed
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Answer: C

Question: 16

The adaptive state, set in Interactive Reporting only, gives what kind of access to an Interactive
Reporting document (assuming that the user has view rights to the report)?

A. View access

B. Process access
C. Delete access
D. No access

Answer: B

Question: 17
The usage tracking service is managed in the:

A. Local Service Configurator
B. Remote Service Configurator
C. Servlet Configurator

D. Workspace

Answer: A

Question: 18

Mark Falk has been given the Provisioning Manager role. Mark has added Raj Mathur to the
native directory and the finance group in the user management console. Mark did not assign a
role to Raj or the finance group. What will happen when Raj logs in to Workspace?

A. Raj can access Workspace

B. Raj cannot access Workspace however he can access objects by their Smart Cuts
C. Raj cannot access Workspace or any objects

D. Raj can access Workspace however he cannot access objects in the finance folder

Answer: C

Question: 19
What are the acceptable methods of stopping a service? (Choose all that apply.)

A. Batch files
B. Services control panel
C. Close the service window

Answer: A, B, C

Question: 20

Mark Falk is planning to add another server to his Bl+ system because of an anticipated increase
in Interactive Reporting activity during peak hours. Which one of the following is Mark's best
option to support the growth?

A. Mark should plan to add another web server

B. Mark should plan to add another database server

C. Mark should plan to add another server to run an additional GSM
D. Mark should plan to add another server for IR and DAS
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Answer: D

Question: 21

Hong Bao is the owner of the sales folder and all contents within the folder. Mark Falk needs
access to the Quarterly Results report in the sales folder. Hong gives Mark the appropriate
access to the report but does not give explicit access to the folder. Which statement describes the
system behavior that will be seen by Mark?

A. Mark can see the sales folder but cannot see the report
B. Mark can see the report but cannot see the sales folder
C. Mark cannot see the report or the sales folder

D. Mark has full access to the report and the sales folder

Answer: C

Question: 22
Which of the following are required components to install a Bl+ system? (Choose all that apply.)

A. Analytic Services

B. Shared Services

C. License Server

D. Financial Reporting Server

Answer: B, C

Question: 23
Which of the following configurations will best support a Bl+ system with a large number of
Production Reporting jobs running in a distributed environment?

A. Install a GSM, LSM and Production Reporting service on each of the new servers
B. Install a LSM and Production Reporting service on each of the new servers

C. Install a GSM, LSM and Job service on each of the new servers

D. Install a LSM and Job service on each of the new servers

Answer: C

Question: 24
A distributed installation of a Bl+ system has a web server, application server, Shared Services
server, and a DAS server. The database client is installed on the server.

A. Database

B. Application
C. Data access
D. Web

Answer: C

Question: 25

Kenye Bothe is the Bl+ Administrator at The Big Corporation. Kenye has enabled usage tracking
to capture each time a user processes a BQY file. She has also imported the sample usage
tracking BQY and the new OCE to the common repository she just created. No other actions
have been taken. Will Kenye be able to run the usage tracking report?

A. Yes, however the report will be blank
B. Yes, the report contains the data to assist Kenye with usage tracking
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C. No, Kenye cannot create an OCE to the repository database
D. No, Kenye did not update DAS with the new data source

Answer: D

Question: 26
Raj Mathur wants to limit data access to users by implementing row level security. How should he
accomplish this?

A. Add criteria for each user and each data source in DAS using the Local Services Configurator
B. Configure properties in the administer module and update repository tables using IR Studio
C. Add users and security criteria to the config.xml file using a text editor

D. Configure users and security criteria for each provider used for authentication

Answer: B

Question: 27
Which of the items below are required of the Domain Account used in the installation of a Bl+
system? (Choose two.)

A. Permission to update the license file

B. Permission to the file system, printers, and output directories used by Bl+

C. Permission to read and write to the web server and application server configuration directories
D. Permission to start and stop services

Answer: B, D

Question: 28
Reporting tools (such as Interactive Reporting and Financial Reporting) contain web clients to
provide:

A. Additional database security

B. Direct access to the common repository
C. Extended functionality

D. Additional service configurators

Answer: C

Question: 29
Mark Falk's Workspace username and password is the same as his database login credentials.
What must the BI+ administrator enable in order to let Mark login once?

A. Pass through

B. Pass in

C. Password token
D. Single sign on

Answer: A

Question: 30

Hong Bao is the Bl+ administrator. He would like to review the log rotation steps but is not quite
sure of the steps involved and the proper order. Review Hong's steps below and identify the one
step that is out of order or incorrect.

A. Step 1 - Size or time threshold met

Page 6 of 11




Exam Name: | Hyperion Bl+ 9.3 Administrator

Exam Type: Oracle

Exam Code: 170-265 Total Questions 51

B. Step 2 - File is renamed and a new log file created

C. Step 3 - Number of log files threshold met

D. Step 4 - Oldest file sent to archive directory; new log file created
E. Step 5 - Log rotation restarts

Answer: D

Question: 31
One of the properties that can be set in the Local Service Configuration is the log level for each
service. Why this property is typically changed?

A. To turn logging off so the log files will not take up space on the server
B. To set how much information about the service is in the log files

C. To change the location of the log files

D. To edit the log files

Answer: B

Question: 32
Vijay Kumar is the Bl+ administrator at The Big Corporation. He has a Financial Reporting
document that needs to use a new data source. How does Vijay make this change?

A. In Workspace, right click on the object, choose properties and change the OCE
B. In Workspace, from the Tools menu select Change Database Connections

C. In FR Studio change the OCE

D. In IR Studio change the database connection string

Answer: B

Question: 33
Which log level is used primarily for troubleshooting?

A. Error
B. Inherit
C. Info
D. Debug

Answer: D

Question: 34
Hyperion System 9 uses a locked licensing system.

A. Node
B. Server
C. Client
D. Station

Answer: A
Question: 35
Hong Bao created a personal event to run the monthly sales report. Mark Falk wants to use the

same event to schedule his job. What system behavior can Mark expect?

A. Mark can use Hong's event providing Hong has given him full control access to the event
B. Mark can use Hong's event if he has access to the appropriate folder
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C. Mark can use and modify Hong's event
D. Mark cannot use Hong's event

Answer: D

Question: 36

Mark Falk has a report that runs against an older application. He wants to schedule it as a
generic job; however, Workspace does not support the application. Where would the Bl+
administrator add support for the legacy application?

A. Job Service

B. Data Access Service

C. Event Service

D. Interactive Reporting Service

Answer: A

Question: 37
Which statement best describes system logging in a distributed environment?

A. Logs are created locally, collected by the logging service, aggregated, stored with the logging
service, and deleted from the distributed system.

B. Logs are collected by the logging service, stored with the logging service, and saved as
backups on the distributed system.

C. Logs are stored on the distributed system and read remotely by the logging service, and saved
as backups on the distributed system.

Answer: A

Question: 38
An example of generic content would be:

A. Text documents
B. OCE documents
C. SQR documents
D. BQY documents

Answer: A

Question: 39
Each feature line in the license file contains: (Choose all that apply.)

A. Deployment key
B. Installation key
C. Deployment ID
D. Host ID

Answer: A, B, D
Question: 40
A BI+ Administrator needing to change the maximum number of personal pages a users can

have does so in the Configurator.

A. Local Service
B. Remote Service
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C. Servlet
D. Web

Answer: C

Question: 41
BI+ utilizes two repositories in which to store metadata. Which one of the following best describes
the metadata?

A. Shared Services and Bl+

B. Data Access Services and Bl+
C. Base Services and Bl+

D. Job Services and Bl+

Answer: A

Question: 42
Identify the Hyperion Bl+ components from the following list: (Choose all that apply.)

A. Interactive Reporting
B. Analytic Services

C. Analyzer

D. Financial Management

Answer: A, B

Question: 43
Which is NOT a valid log level?

A. verbose
B. warn

C. debug
D. info

Answer: A

Question: 44
Which System 9 module is used to manage physical resources such as printers and output
directories?

A. Explore

B. View

C. Administer
D. Schedule

Answer: C

Question: 45
Where must the Servlet Configurator be installed?

A. On the primary server

B. On each web server

C. On each server where DAS is installed

D. On each client where IR Studio is installed
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Answer: B

Question: 46

Kenye Bothe is the Bl+ Administrator at The Big Corporation. Kenye feels that there are many
items imported to Bl+ that are no longer used. How will Kenye implement usage tracking on the
Bl+ application to find the documents not used?

A. Using Interactive Reporting Studio connect to the common repository to change the usage
tracking properties

B. Using Dashboard Studio open the Usage Tracking Dashboard to change the usage tracking
properties

C. Using the Administer module in Workspace change the usage tracking properties

D. Using the Local Service Configurator change the usage tracking properties

Answer: C

Question: 47

Hong Bao is part of the management group and has been given the developer role. What is
Hong's level of access to the Management folder if he has full control of the folder and the
management group has modify access?

A. No access

B. Modify access
C. Full control

D. View access

Answer: C

Question: 48
Row-level security supports:

A. Interactive Reporting
B. Production Reporting
C. Financial Reporting
D. Web Analysis

Answer: A

Question: 49

Chen Meimei is the administrator of the Bl+ system. Chen has imported an Interactive Reporting
document that reports from a new data source. She has created the OCE in Interactive Reporting
Studio and imported the OCE in the repository. Chen tests the document but is unable to refresh
the data. What could be the cause?

A. Chen does not have access to the data source

B. Chen did not update the Data Access service with the new data source
C. Chen does not have access to the document

D. Chen did not restart all Bl+ services

Answer: B

Question: 50
Privileges assigned at the object level take precedence except:

A. When the user has the Bl+ Global Administrator role or is the owner of the item.
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B. When the user has Provisioning Manger and Directory Manager roles
C. When the user belongs to the Administrator group
D. When the user has Bl+ Administrator and Content Manger roles

Answer: A

Question: 51
Which report type cannot be monitored through event tracking?

A. Financial Reports
B. Interactive Reports
C. Production Reports
D. Generic Reports
Answer: D

End of Document
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